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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the correct choice on your answer sheet.

1. Despite the fact that Gross Domestic Product (GDP) has increased substantially in the
industrialized West, the levels of human contentment have remained ------------ :

1) apposite 2) interwoven 3) static 4) implicit
2. Immigration -------------- from the Latin word migration and means the act of a
foreigner entering a country in the aim of obtaining the right of permanent residence.
1) gathers 2) obtains 3) arises 4) derives
3. Not speaking the same language as your customers can lead to communication ------- .
1) breakdown 2) brevity 3) gesture 4) imitation
4. The factory’s workforce has ------------- from over 4,000 to a few hundred.
1) withdrawn 2) dwindled 3) undercut 4) forecasted
5. The police came up empty-handed despite an ------------ exploration of the suspect’s
home.
1) exhaustive 2) inescapable 3) ephemeral 4) inevitable

6. When the old man married a woman in her thirties, all everyone talked about was the
----------- in the couple’s ages.

1) diversity 2) disparity 3) longevity 4) extension
7. One local factory will ------------ the town’s job shortage by providing 250 more jobs.
1) overlook 2) adjust 3) displace 4) alleviate

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

One commentator argues that the success of private schools is not in their money,

[€C) their organization. State schools fail their pupils because, under
government control, they lack options. But if head teachers at state schools (9)
.......... given the same freedom as those at private schools, namely (10) ..........

poor teachers and pay more to good ones, parents would not need to send their
children to private schools any more.

8. 1)thatis 2)itisin 3) but in 4)is
9. 1)had 2) were 3) to be 4) be
10. 1) by sacking 2) sacking 3) sacked 4) to sack
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One commentator argues that the success of private schools is not in their money, -----------
their organization.
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But if head teachers at state schools (9) ----------- given the same freedom as those at private
schools, namely (10) ----------- poor teachers and pay more to good ones, parents would not
need to send their children to private schools any more.
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If simple past would/ could/ might + infinitive
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If she was prime minister, she would invest more money in schools.
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But if head teachers at state schools were given the same freedom as those at private schools,
namely ----------- poor teachers and pay more to good ones, parents would not need to send
their children to private schools any more.

& yide Jor C30p g Ciuns Glabre Z1y8 ] L 09 00 033 Laoguad ojlde ;3 a8 W oo 03l (o311 plen (gD oo olpde 4y ST Ll »
CAISIS ogad ywylie 4y g3 55,8 abisyd 4 (65l K> pilly cogs ladze

ady Coley (65lge 55l b 03,5 0okl ANA | ga qeailys by By s, 457 pokailen

to sack poor teachers and to pay more
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